




Practice Sheet Answers 

Moving polygons on a grid (hot)
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1. See grid above
2. (7, 7)
3. See grid above
4. (0, 9), (0, 6), (3, 6) and (3, 9)
5. See grid above
6. See grid above for an example
7. (7, 1), (7, 3), (10, 1), (9, 5) and (10, 3) are co-ordinates for shape in Q6.
8. (4, 3), (7, 3), (4, 5), (7, 5) and (6, 7)
9. Up 2 squares and left 3 squares
10. See grid above

Challenge
A shape is translated three squares right and four squares ‘up’ the grid. It finishes with vertices 
at: (5,4), (3,9) and (3,4). Where did it start? 	 (2, 0), (0, 5) and (0, 0)
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Walk then fly! 
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Check your understanding 

Questions 

Bill draws a triangle on his grid.  

He moves it two squares ‘down’ the grid. 

The new co-ordinates of its vertices are:  

(2, 1)   (6, 1)   (3, 5) 

Write the co-ordinates of the triangle before its translation. 

Esme draws a triangle on her grid.  

She moves it two squares to the left.  

The new co-ordinates of its vertices are: 

(1, 3)   (5, 3)   (3, 6) 

Write the co-ordinates of the triangle before its translation. 

Fold here to hide answers 

Check your understanding 

Answers

Bill draws a triangle on his grid.  

He moves it two squares ‘down’ the grid. 

The new co-ordinates of its vertices are:  

(2, 1)  (6, 1)  (3, 5) 

Write the co-ordinates of the triangle before its translation. 

(2, 3)  (6, 3) ( 3, 7) 
In each case the y co-ordinates of the triangle must be 2 greater in the original. Some children may mix up 
direction and subtract 2. Note that the x co-ordinate is unchanged. 

Esme draws a triangle on her grid.  

She moves it two squares to the left.  

The new co-ordinates of its vertices are: 

(1, 3)   (5, 3)   (3, 6) 

Write the co-ordinates of the triangle before its translation. 

(3, 3)   (7, 3)   (5, 6) 

In each case, the x co-ordinate is 2 greater in the original. Note that the y co-ordinate is unchanged. 
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